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2HgO0 =—=2Hg + 0, T

A
2Ag,0 —=4Ag+0, 1
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Sn0, + Cu,0
Sn0, +2C ==S8n +2C0 1

Cu,0 +C==2Cu+CO?
Fe, 0,
Fe,0, +3CO =—=2Fe +3CO,

A
ZnCO, —=

7/n0 + C
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7/n0 + CO, 1

Zn +CO 1
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2PbS +30, ==2Ph0 +250, 1

A
PbO + C=—=Pb +CO ?
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GeO, +2H, ==Ge +2H,0
WO, +3H, =W +3H,0
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A

KCI + Na NaCl + K 1

A

2RbCl + Ca CaCl, +2Rb 1

A
2CsAlO, + Mg =—=MgAl,0, +2Cs |

~ ~ ~ ~ ~

Al Fe,O, :
Fe,0, +2Al ==Al,0, +2Fe
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2NaCl( )=—=2Na+CL 1
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o — Ni( ) +4CO Ni( CO) , 1
o . 513K ~593K
Ni( CO) , ————""""Ni(99.998% ) +4CO 1
323K ~523K
Ti( ) +2I, =——=Til, 1
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Til, Ti( ) +21,
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